360/ =2 pi md

« 60"
= 60"

4
3:09x10°16 m = 3.26 Iy

9 AbX‘OA‘S m

-

fi sy 1€

76D 1!
\ RIS
Dofows s

Ak
A

! pe

\ AU = 1.50x10°11 m

™

i

i}

£
[ 5

fi

,\'\\\‘,

RN N 2 Ke

K

1t

T

e

Mf!jﬂn.‘
L S20 E1 sy

= 5\:, ““.\ . mid) a

h -
o W = M- Sbe(d/10)
)

3.26ly

W X
Ay

R

AN
pok

fit: Bt / B

o

:#]’) = | /p(t'([f'[,)

2 & Hy
e (AR x D)

A

Lipine
G

2.

e =

Y Fobe

5
P g 1pe - 206265AU =

2
‘q‘:,‘)‘l’l

Q‘\‘-"";.:(\\\\'.f(f.":

Yt K = 1/2(mvr2)

C

A ve=\/ (GMIr)

iy
« f]!L'. 2

&
i

s

»

7 Rt

Sy
WU RH
4 7\’&‘“

A2 TN
BIFSVSAT 1S

OBAFGK
WA551 115512 F=GMm/r™2

HUR I L=4rR™2 o

=

/¥ i

A
(I

FHil e
&

I 5430

/sé(;;,'/%
-~
8

2. BB

"

.
(;/é Uy K

RICEREIRFIL

1 REZEFERE THFHER

11 REZE R Ry
1 ERIELY ¢ 4
14 =36525H

2. FAEEEAr T~ &Sy (arcmin B %)

b (arcsec 3 ) ~ JIE (rad)
1’=60"
1°= 60’ = 3600”
1rad =180 7n=57.3°

A

3. RILEr : e (ly) ~ ROCEAr

(AV) ~ FbZEE (pc)

1 ly =efEHZEfTiE—FHIEERE

=1.50x10" m

1pc =1AU EEZR 17HIE

FEHE FTAE AR Y R
1 pc=3.26 ly =3.09x10"*m

i

4. BIEREEHIAN

=¥ RETREIRE
(m)

107 | EREVERS

10° | KFGHVERK

107 | HERHUIEAYL

10° | K%

AYEESRANSR A B YIAG)

10| SLEATHIR B AR (2
ZHIRN (BRESEE

10* | 2EARN (412500
25 MR SRAE AV )

HIBEARZER)

0% | BEARN (HEE 2
M~ RES - EESR DU
R PG TKENDY

107 | —fR R S [HIHYEERE

10 | R RN

10° | NEREBIZEFITHIIA/N

1.2 HERFIRZ2

1. WREAERZE YR 52 E B it
ERE AT [ MER P E R
5 B AR B A BT

THEE > TEPEITSE T -

3. HMgEBEFIREN G EF S
FRAEIETE © fE1LFEK > B
7 B 48 T SR B R OR 3 S T
Zﬁaﬁﬂf‘jﬁ@@ °

T

% o

4. RAFEEEEERE  SfMHHE

HESh G HATAE -

a. (EILEEE - A2 E
SALRMEC B ) -
KEBAG LI - Bk
TR R B2 -

b. {EREEE - A2 E
Sep dLhon B P BER
D)

c. feIb-FERAVEAMNEEEE -
INEELARERK ~ DARE
i EteE) -

(i) S (i) L (iii) EEE A

5. WEEKRFSIEREK LEITHIE
& KIGEEAERE EHERE
AT

6. w=iH FAVUEEZEE -

a. HER: KEGiEER
FTREEE R IR B TR IbHY
firE - f£iE—K » LR
H BRI 2 F R & (KL
E6H21H)-

sl
/ ﬁ@ /
/Q :

KBE PO &

<mar
¥z
@

b. & B KIS AEER BN -
FREEEE KR T TRy
fir'E - fEiE—F » JLEERAY
S R 4 6 R (K
212 A 22 H)

,,v it

c. BoEh KIGEEEEE
BF o WS e R ERHY e 80
#ALLFE Y - EIE—K
H &M LAY R EAHE (R
SE3H2LH)-

d. BkorEh - KRG EREIE
Ry o WA RERAYILE 7y
#EARFET - fEIE—K
H & _EEy R EAHE (K
“El12H22H)-

EXR&E

2 RIEBHIBRES

21T EEMRE
1 TEAVESERNRE B8
BHIRIERF A5 5K - AL 2
HEERLE
a. fTEAVHITT

b. fEBREZ: - KEME 2K
FEEERD - EMRERE
HEE -

A FaarmEtcrm O R AAER

il AT




2. FEEEHIHLOIEALE 15 (@t
IR e B2 81— (8 - iR$Z S
(AR > HERE T H AL - H
ity 2 A = H B SR BRI T -

3. &4 EFH/EfRH HOEE - R
IS (AL - BN AT 2 D
ESERFZ T -

4. BT AR T 2 A ) -
EIVER R IR °

2.2 BERRSLRHIBE
L fAIBS £ 2 TH SR H L ER Y
RILEIH > BfE

) B

HERRIEA | HERAEPIBRIER
LA - (LA | B8 - ERER—RA
PR - FARS AL A —1E -

KFFREH | KFEALA5ESE  #HER
BROKGE | thefseg e -
T) Ef#ER

KIFEEHE -

REAWE | HERRZEEYRI+
BESCET | L EATREESE
HIEE - HY 2 AGIETT -

EEATE | EEERGRETE
EUARAL AR - | RS o
—fEREE R EESER
T > SBIES RS
FrH.LSRIAE I
% -

2. FAEENTEESER
FEE  TRISEEYE
ESERFELT > KIS
[BIE—{H R | -

g

FHEHE © HPRR AR
AV ESAERIMER N > 7
AR SRR RS - GREREATRES -
EITERARE )

i

FEEE T RUEBEIRY
07 B R (BT 2 LR
b5 < IRV P EEEE ) HYTLT
RRIEEE - AR B RS ESER
T | TR =a (GBI
HEREE R AU Ry BRA1T)

log T,
o

157
1

0.5+

3 BT FHVEIEEE)

3.1 SRR EE

1. 5170 A4 HE (T 3 A
7 -
HH51J77772 : F = GMmA?

2. HIFH AT EAL By vV EIREE
GRS B (T A R T
v = [P0, o Mg 2 B 1Y
-

3. B = R A
A B TPar® S5 - iE
] G A B A 5 ) E
Hige -

4. BB 5 = A A
A T2 = T2
R - T? < a -

5. K22 \TeAs K2R BT » 71
ST - BRI
PRSP » T2 TR R
B 22 I 22 A B 2 £
LB

3.2 GUBEE) TR R T

1. EBEE U (BN e
BRI B2 1 > R
5 JIFERIL -

r2

R

e S

U=-GMm/r
2. HEPREESTIAL -
K+U=%mv—GMm/ir = 8

3. REBHIMIRTE © v = [

4 NEMFH

4.1 8RR ERVERE

L. TR 2 AR AT A R -

2. DAEJTAHRDZRE (pe) iE5(H
BRI AYE 2 - BUBRAHEE 1 Fh2=
R E - SR —A -

3. 1pc=206265AU=3261y :
d=1p (S3RILIFDZERE R AR Ry B
fir)

|
|
i
|
{
L 1P
Ve
W
i
vy
1
V

4.2 BXeRRE NI
1. ARIBHREE 1L — (& e IR A2 iy
SRIE | eI A ST -

PUHIRER
PRGRIE = i ST

SRR fiLE Wm? -

2. RCBHFMGZETE m Amilih
B R HM KA -
A {18 2 A A SR FEEE P FH B 22

HF~
Ig L my—mp)
— = 1005'™Ma"MB) _ 9 5qp(ma-mp)
Ia
WA
4
30+
—® %
. (-26.8)
-20
= #A
— (-12.8)
AR Sl 104
(-4.4)
o y BEMEE - RAE
[—1.4]
E_WBEAMEE _l— 9
AR (-0.7) [E
—— iEE (20)
=
TR 1 e asham g
s (~3.0) 4& B (6.0)

Sl e OWL B &

- 25 EEE TR R
[Overwhelmingly Large %ﬁﬂ;iﬁ
Telescope) FifiEB#E {30.0)

1018 (38.0) 3

3. WEHPLE L BEEWBEHY
JERER(E
e Rl Ry
W/
JEEHIERALE W -

S =

4. NEHEHESE M ER LN
EAE 10pc HEEERFTRTRATH 2

5. HEEMEE EENR%
M =m - 5log (d/10)

4] ok HE L
i
fo_ 2 512" Lo_ 5 5qpWa-te
T L
BEEm M=m-5log-L BHES M
o 10

6. FLEGHE Y i = B P
S T A R E
*%%jj : T/I\=>}\max\l/

, ' + v v ' I
AM/K: 10000 9000 B00O TOOD 6000 5000 4000 3000 2000 1000

7. WTRRE T U IRRE 1= oT

Hrf 6=5.67x10° Wm*K*

BHEE
A

A —

Lt S —
500 1000 1500 2000

8. THEMILE HCRIBERE
FEIFAIRE 4 -

\\\ T/f 2.
Wseg R el

s N
/11\\

9. A EAYEREE HBDERER (TR
AR ©
EHARE !Ellﬂ\l/ﬂhi

10. A2 B 73R AN [RIHDEEE AR -
11 FERREEE o » Sl (RFRIREADE
& Rl AR T B R DR (2

S ) -

JERR | ARERE/ K
0 40 000
B 20000
A 10 000
F 7500
G 5500
K 4500
M 3000

12. R 2 AERREEE E IR laEet -
FRrE - AEENHREE -

134 B2 Ak 28 [& > = DL & =
R =L/T? (EEIUAFSHEAET
B RSREHFK -
4.3 REBHI 2 RIRE
1. ZENE RN ZE 2 [H
AAEEES) NI EFTEE
FIRTRAIIAR (RIOEER ) tHEH S

k-
LNy Eo,
= 7~ il
2. L ENRE
52 EE
'}i@iﬁ
@ W
o e
EMIT = &
RZ2HER => 4%
HEHh IR E 2

Eigs Ciobit

B #T
3. HEMNEL: A A A= wlc
4, 5 FL AR P g 45 T P A A
B AP S INE B BT R -

5. I A e Bl 6 B A R T
T -

FTiRE/ km s

300 -
°

200

100

o 5 10 15 20 25 30 a5
B2 RZALIEERE / kpe

6. B AHVALB BUR T H EAEW

AR -

R km s

12 000
10 000
8000
6000
4000
2000

29
0 20 40 60 80 100 120 140 160 180 Mpc




